A
Lesson 7-4

© Solve. You can draw a diagram € How many baskets did Anna 8
to help. and Kim make all together? c§
L
A coat costs $65. Shoes cost . How Many Baskets? =
$30. How much less do the 26 HH
shoes cost? %S
Q4
Number model: o 3
2,
54
0

Anna Jane Kim Carla

) 5 baskets 3 baskets

less. F'Ea @ 2 baskets @ 8 baskets Fﬂ

€ Measure the length of this line @) Oliver picked 16 tulips and

The shoes cost $

segment: 20 daffodils. How many flowers
did he pick in all?
Number model:
About cm
About in.

vl Answer: flowers bd

© Write a number story to match this number model: 45 — 20 = ?

Solve your number story. Answer:

one hundred seventy-seven 177



